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Candidate has to attempt FIVE questions in ql],

‘Questions no. 1 and 5 are compulsory and out of the remaining,v any THREE are to be attempted
choosing at least ONE question from each section,

The number of marks carried by a question [ part is indicated against it,

Answers must be written in the medium authorized in the Admission Certiﬁcate which must be
d clearly on the cover of this Question-cum-Answer (QCA) Booklet in the Space provided. No

Statekd ¥ :'Zl(; b?z’ given for answers written in a medium other than the authorized one.
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SECTION A
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(c)

(d)

(e)

regarding set-off of loss from one source against income from another

swe "
r the following questions in about 150 words each :

FHE St R o g @ 2 R R G R ohfet § o

ﬁm} 1 i fsar 1 Gehar 8 2
What are Sweat Equity Shares ? Under what conditions can these
10

shares be issued by a company ?

fafafer-smeia ara-Rufor (THhE.) = g
A S1H. g 2 gatd. womeft 4
famfia worify w1 queft et @ 2 ‘

What is Activity-Based Costing (ABC) ? How does ABC system support
10

corporate strategy ?
AR ATHIY T 8 ? 39 G A AGIIUah & Shdedl ! [fdse hifrT |

What is Interim Dividend ? Specify the duties of an auditor in this
’ 10

regard.
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Explain briefly the steps involved in preparing the budget. for an
10

industrial organization.
s AR ¥ T % s © @ Wiw § o aa f e f o
WW%W@Wﬁm@ﬁ%mﬁm,

State ' the exceptions to the provision under the Income Tax Act

10

source under the same head.
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Balance Shects of A Ltd. and B Ltd. as on March 31, 209, are g4
follows : e —————
h N A Ltd. (7) B Ltd. (7)
- —
I - Equity and Liabilities :
1. Sharcholder’s Funds
(a) Share Capital
Authoris‘ed Capital
Share of T 100 each 5,00,000 _
Share of ¥ 10 each — 10,00,000
Issued capital fully paid 5,00,000 4,00,000
(b) Reserve and Surplus
Capital Reserve ' 1,00,000 —
General Reserve 35,000 4,00,000
2. Non-Current Liabilities
Secured Loans — 2,50,000
Unsecured Loans 1,00,000 —
3. Current Liabilities
Sundry Creditors 1,55,000 1,80,000
Total | 890,000  12,30,000
II - Assets:
1. Non-Current Assets
Fixed Assets
Goodwill 4,00,000 8,00,000
2. Current Assets 40,000 —
Stock
Others . _ 1,00,000
=4
Total 20,000 3,30,000

8,90,000 [

12,30,000
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(b)
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It was pr
arra Proposed that A T.td. should be amalgamated in B Ltd. Following

G Ig::;:?';s were accc?pted by both the companies :
(i) ear; :f('iA Ltd: 1s. cor}sidered as valueless.
Giif) sl Ol depreciation in A Ltd. amounted to ¥ 20,000,
e holder of every 2 shares in A Ltd. was to receive :
(1 As fully paid at par, 10 shares in B Ltd.; and
(2) So much cash as is necessary to adjust the right of the
§hareholders of both the companies in accordance with the
Intrinsic value of the shares as per their balance sheets
subject to necessary adjustments with regard to goodwill and
depreciation in A Ltd’s Balance Sheet.
You are required to : :
(D Determine the composite of purchase consideration; and
(II) Show the balance sheet after amalgamation.
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W ¥ 18,00,000 anf¥sw TR wmd den T 12 wid Fffq Sewwm
IREd T et | ' g
(i) 9 3T ! TH F I 0 e weiE @0 9 e Se i w
T 30,00,000 aTNe TR v qeur < 10 Sfy i St aieddy
N Tt |
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-Great Ocean Ltd. is currently buying a component from a local supplier

@ T 30 each. As the supply is irregular, the company is considering the

following two proposals :

(i) Buy and install a semi-automatic machine for manufacturing this
component, which would involve an annual fixed cost of
¥ 18,00,000 and variable cost of ¥ 12 per manufactured

component.
(ii) Buy and install an automatic machine for manufacturing this

component, incurring an annual fixed cost of T 30,00,000. and
variable cost of ¥ 10 per manufactured component.
The annual requirement of the company is expected to be 5,00,000 units

| and the volume is expected to increase to 6,00,000 units thereafter.

Would you recommend the automatic or semi-automatic machine ?
Justify your recommendation with necessary computations.
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Q3. (a)

LRNA-F-LOWA

a"htﬂw%?wﬂﬁmsﬁﬁs
AT ey ) Fwifa w0 6 GfRT BT ITET
What is Annual Value ? Illustrate the procedure
annual value of a house property which is let ou

ot wee TG |
of compu
t ,throughout

v{(naaém‘ﬂﬁm’m%’a%

ting the

the

previous year.
T, S O e A HHE R, 31 9T, zozlaﬁméﬁméatfzﬁmﬂ
frefeRaa fraor y&ga #@ 2 ¢
B

e Jad 2,88,000

TEMTE AT ' ' | 57,600

wﬁmwﬁwﬁﬁ(gﬁézm)ﬁmmm 40,320

swfw Fafty & fordieRt 1 SEH 40,320

28,000

o wigsy fafa (gﬁézm)-%ﬁwwm
24,000

HI TS |
m%mw,ﬁﬂﬁﬁqﬁﬁ!ﬂ
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(i)
ﬁ?z,soouﬁwmﬁmlﬁwi&ﬂam@m@a&ﬁda
(TR-HETR) w1 g @ A egafa f, bl @mTd SHEN:
eﬁ,aa%ol.04.20203ﬁ3=ﬁmamf?if\@?ft@

Z 16,000 9T T 24,000
AT T 9,000 94T T 14,000 T |

m%sﬁmm?4,80,oooﬁ@aﬁmwﬁ%ﬁﬁ%§mmﬁ

(iii)
= 24,000 1 S a1 Aftem gram w1
o oo ¥ 2021 — 22% AT T FTAE I A T HIT |

X, an employee of a firm, furnished the following particulars of his

income for the year ended March 31, 2021 :

?
Basic Salary 2.88.000 '
Dearness Allowance A
V)
¢S 57,600

Own contribution to recognized Provident I{u’nd 40,320
Employer’s contribution to the above fund \'v‘\’ 40,320
Interest on balance in recognized Provident and 28’000

Bonus
m Yo 24,000
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(b)
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Q4. (a)

AP e ‘

. Additional Information : . |
ijth a small car for which the employer paid all

tenance costs. The car was used for official A%
e

(i()/' X was provided W

the running and main

as well as personal purposes: '

(ii)/, He was mith rent-free accommodation at @or
\/ﬁ which the employer paid a rent 0 ¥ .2:500 P I'{e was allowed to
use one refrigerator and an air-conditioner costing ¥ 16,000 and

while their written-down values as on

T 24,000 respectively, )
01.04.2020 were T 9,000 and € 14,000 respectively.
(iii) Life insurance premium of € 24,000 was paid by his employer on

an Insurance Policy for ¥ 4,80,000 on the life of X.

Compute the taxable salary of X for the Assessment Year 2021 — 22, 20

é@mm.g%aﬁw‘mﬁ’mﬁmzﬁrmlmnﬁzﬁma}
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freeh =few 2

Explain the te
the term TRevénue’. When should reven

rm ‘Revenue’ as per AS-9. State the items not included in
ue from sale of goods be

recognized ? 15

et S 6 saETEn o R w ere AR | Y T e

= wr F0 # fifta wwit i faem A

Explain the concept and features of Responsibility Accounting. Discuss

the steps invoang such an Accounting System. o
o | e

-

15

frfafay frawr o S0 % @ Red 3 fe e §
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Sadt, 2022 TEH % dUA ITATET HIRHA 7000 HIFAT T HEA HI AT; FE(H

g % QWA ard § 8100 FHISAl w1 Ieqted fRAT TN o1 | 40000 Ui
it A T 1,65,000 % sfioih Tod T GHE TS |

s, 2022 WY % T R @ e wom o g

gt Al TSR wEm hi - 35800 dfs, wew sW - 17200 aw

- ¥ 59,400 |

. S annh g 3 frell 6 oA Hift |
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(b)

(c)

LRNA-F-LOWA

The follow;
OWin . :
company - g details have been extracted from the cost records of a
Material : 51bs@ T 5T 25 |
- Labour : 4Hrs@ % 3-% 12
& bro ‘ . |
production schedule for the month of January, 2022 required the

complet;i .
du _ngtzEIl of 7000 units; however 8100 units were actually produced
ring the month. Purchase of materials of 40000 lbs was made at a

total invoice price of ¥ 1,65,000.

Production record for the month of January
following : ’

2022 revealed the

Materials requisitioned and used — 35800 1bs, Direct labour — 17200 Hrs

— ¥ 59,400.
Calcglate the appropriate material a‘nd. labour variances. ¥ 20
Srgie T SRR R & wE A e IR |

15

Discuss the impact of behavioural sciences on Accounting.

Wmﬁﬁé@qﬁmmm@%@wﬁwmﬁﬁmmaﬁaﬁ
iy firgatt <t e IR | | ,

Discuss the major points to be considered by an au
the audit of charitable institutions.

ditor while conducting
15
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Answer
the following questions in about 160 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

LRMA-F-LOWA

E\Gﬁ R Hiva-Rufor wige’ 9 =men HIR |

xpla.m Capital Asset Pricing Model’.

3 e Waﬁmmmmaﬁﬁﬁéfqﬁﬁﬁaﬁﬁémﬁ

q'.@l ﬁﬁm |
Briefly explain any five risks faced by the financial institutions in India. 10
T fofy & areet wfest A fa=e Hf |
Discuss Walter’s model of dividend decision.
ﬁsﬁaaﬁﬁﬁa%ﬁuﬁuﬁmﬁa@-aﬁaﬂ?ﬁaﬁaﬁmaﬁm
?ﬁﬁm l |
Discuss the problem of multiple internal rates of return in relation to
capital budgeting decision.

IaRERT hl SR ) 1fisad 1 - 3¢ ) T HINT |

Explain the objective of maximising the wealth of shareholders.

10

10

10

10

frafiRaq rfwel @ qo-9F qu am-aT e dam i :

=
(F) IREH ~9,60,000
(@) wrsha oot | 3,64,000
(@) o arfifaerd . 60,000
() e I ~ 2
(i) TR AU - 15
(i) T A — 0-80

| (fer gfrgmafean

wafirea fafer)

(iv) Hohd oM [ - 0-20

(v) by 3Ed s — 4
(vi) iR g e — 36 f&
(vii) Jgd USit W g o - 10%

o i R w ommh aReREt T § 1w aRehE § e,

S I 3R g & JAfaRe w¥ ofmwtel o€ § | ofRw =i
SRR 6 @ 20% s @ | W A, T o § 360 R ww oA |
g .



Sheet
prepare a Balance 20

From the following data, you are required t0
and a Statement of Profit and Loss : | =
9,60,000
3,64,000

(a) Share Capital
(b) Working Capital
(¢) Bank Overdraft

Additional information :

(i) . Current Ratio - 2
(i)  Quick Ratio

(iii) Proprietary Ratio

(Fixed Assets/ :
W@
(iv) Profit Ratio - 020
- 4 _ v
s

(v)  Inventory Turnover Ratio

(vi Trade Receivables Turnover — 36 days
(vii) Net Profit to Paid-up Capital — 10%
Assume there are no fictitious assets. In the case of current assets, there

are no assets other than inventories, trade receivables and cash. Closing
e S a——
ing mventory. Also assume

inventory is higﬁer than the open
. ‘___________-——-—l
360 days in a yedr. _ >

60,000

- 080

(b) TH FEE G G § PR ake |
g
$feardt TR gt : (100 ¥fd IRR) —  40,00,000
wicenfa s — 20,00,000
8% 3 IR - — 20,00,000
7% TG - —  4,00,000
o ﬁwmﬁ — 84,00,000
FrRA & faa-9o 39 € 50,00,000 Y @R L Rk
fore Pfofas ooy Sqmer 8. - ?

@ ¥ 253k I shfirm W 40,000 $haE ST F Bl
()  10% ARMH IR #1 Frfe
(i) 8% FU9AT T frfge

m%ﬁﬁmw;z 12%_;371%2{:@% | TR A R 50% 2 |
formrea &t s w6 2 . TS R s

R COMA o
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Q7. (a)

CRMA-F-LOWA

Capital structure of a company consists of the following : _
o T

Equity Share Capital : (Shares of ¥100 each) — 40,00,000

Retéined Earning ‘ ' e = 20,00,000

8% Preference Shares : — 20,00,000

7% Debentures — 4,00,000

Total . — 84,00,000
The company requires ¥ 50,00,000 to finance the expansion programme Q
for which the following alternatives are available : ' : (‘,\ A
(i) Issue of 40,000 equity shares at a premium of ¥ 25 per share é
z

(ii) Issue of 10% Preference Shares 9 z &

/7

ez aF
AY

(iii) Issue of 8% Debentures .
It is estimated that in the case of equity shares, preference shares and

debentures financing, the PE ratios would be 21:4, 17 ang 15-7
respectively.

. Assume the company earns 12% on its capital with the income tax rate

of 50%. —

You are required to evaluate the three financing alternatives ' and
recommend the best alternative suitable for the company. ' 15

gmmw%?@ﬁmﬁgmwﬁﬁﬁwﬁwzﬁﬁq |

What is money market ? Explain the features of a developed money
market. 15

T e arh B Fom e % R < 20 @ o i e
gzma%a?ﬂ%isa%mﬁém%?&w%g%4,20,0003rﬁmrﬂaa¢m%taqﬁ
9T R | . |
aﬁfﬁ?ﬁﬁamﬁtr%f@a%

D o fisor — 309709, | | ‘

(i) mﬁm%s,so,ooow—mﬁﬁ 10% &;

¥ 3,60,000 % W1g — o 16% ?;
(iif) uﬁrﬁmm?sé Ié' ¢

V) A e ety 50% &

(v) iy ﬁw&fﬁaq@a 10% 2
(vi) wﬁrﬁmmww%%%
(VD) =i g 509 3

mmﬁ?ﬁ?ﬁ%@m ARRE or )y 7 |
V &, -9¥E, 3ftEd AT,
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(b)
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|

| Jakh for meeting
company wishes to raise additional finance ot 3;) retained earnings
its investment plans. It has ¥ 4,20,000 in the form

available for investment purposes.

Following are the additional details : \
: YD

(i)  Debt/Equity mix — 30%/70
Gi)  Cost of debt upto T 3,60,000 is 10% before tax; \5/
Beyond ¥ 3,60,000 is 16% before tax; 5 (%\°
(iii) Earnings per shareis ¥ 8 Q K\{—(’/ % A
(iv) Dividend payout is 50% of earnings
dend is 10% Q// )(%

(v)  Expected growth rate in divi p
et price per share is T 88 QO/ W"B %/
O

(vi) Current mark
(vii) Tax rateis 50% o | s
You are required to determine the pattern for raising the additiona

t of additional debt, the cost of retained

finance, the post-tax average cos
earnings and the cost of equity. B
11 weighted average after-tax cost of additional =
e

Also compute the overa
finance. '
e fufite ¥ Frafuiaa did e @ ¥ 81 A, 2022 Y AT &M

aé%%qé@mm&%mﬁm ffy @ e vaE o dER

i |
(31 7T, 2022@%%;@3&%%11) (% 2000 &)
T | z
01/04/2021 1 A9 100 | IfwiS B PTAA 4,000
Iferadt Sl o1 i 600 s gREHfaE i @lig 400
Tl 4 Slef?Rﬁ 5,600 | SIRSTT 400
e aREEafrl <6t fash 200 | TGt TE A 200
i 500
W 100
e o T GTA 600
31/03/2022 HI Y 300
6,500 6,500
e
F % T I THG FAGEAT TG R |
/4



From the following Summary Cash Account of Z Ltd., you are required

to prepare Cash Flow Statement for the year ended March 31, 2022 in
accordance with AS-3 using the DM- 15

v
Summary Cash Account
(for the year ended March 31, 2022) (T in ’000)
—
T T
| Balance on 01/04/2021 100 | Payment to suppliers ¥ | {4,000
Issue 6f Equity Shares | 600 | Purchase of fixed assets 400
Receipts from customers Overhead expenses
Sale of fixed assets © 200 Wages & Salaries @
-~ -|Taxation _ peei = 500
| Dividend R r4 100
Repayment of bank loan 600
Balance on 31/03/2022 300
6,500 6,500
Note :

The company does not have any cash equivalance.

(c) W(W)Ww@m%?wmﬁmﬁﬁw

Fifo | e

What is cdrporate restructuring ? Expiain the techniques of corporate

restructuring. A v
N a2
Qe M
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(31 5, 2022 aﬁm@ﬁﬁ_ﬁmﬁ
ARNF e - ' feshl i
Hu1 AT g9 | S T
frfoefty = 60 | - F=N A 2
e T so | Fetmd 80
- 480 | dER AT | %
gd VL o 50
fainsm ’ 80
arer e 124 | ‘
- 812 | - ’ ==
rater wd yrERE R | 32 | Wehel A 124
foshl i foeor = 10 |
— 76
. 124 ‘ 2

ger.ua (31 7T, 2022 %) (T e )

= e [t T
WTjﬂ 600 %@QHW 300
- 320 | & T T 480
o o g @ | e |
bl g4 | T 32
frmfonefa et + 80
Far 1 -~ 60
- 104
- TR | 24
I— 1080 | 1080

LRWA-F-LOWA “




P —
e a ety ar

SR g -

(i) mwmmm&;wﬁmm&?smwﬁmh

() Seni w v 9w ¢ 24 @M@ B
(i) 3 3l fagn Sae aum % s ax frg s §

From the following information as contained in the Trading and Profis 5
Loss Account and Balance Sheet of X Ltd., you are required to caleulate

-

the operating cycle period. 20
—— .
Trading and Profit & Loss Account
(for the year ended March 31, 2022) (Z in lakh)
. —
To Opening Stock : By Sales 640
Raw Materials 28 | By Closing Stock :
Work-in-Process 60 Raw Materials 32
Finished Goods 40 Work-in-Process 80 i
To Purchases 480 Finished Goods 60 a
To Wages 50 f
To Manufacturing Expenses 30
To Gross Profit 124
812 8§12 |
To Office & Administrative Expenses 32 | By Gross Profit 124
To Selling & Distribution Expenses 16
To Net Profit 76
124 124 |
5
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(b)

(c)

4-F-LOMA

Balance Sheet (as on March 31, 2022) (% in lakh)

__ re
Share Capital 600 | Land & Buildings 300
LOans‘ 390 | Plant & Machinery 480
Profit & Loss Account 76 | Stocks :
Creditors 84 Raw Materials 32
Work-in-Process 80
Finished Goods 60
Debtors 104
I Cash 24
L - 1080 1080
Additional Information :
(). Closing balance of debtors is ¥ 8 lakh more than the opening
balance of debtors.

(ii) Opening balance of creditors is = 24 lakh.
(iii) Purchases and sales are made on credit basis only.

U & % i e i anfufsus da 1 ufm 6 R Bifv |

Discuss the role of commercial banks in the economic development of a

country. 15
AR T e wied (w ws w Aiea) &
e FHif | | R S0 S
Explain the Arbritrage process as per the M&M Mode]

’ 15
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